FS3-2000
Recirculating Tank
Exploded View

SG1-0080G Vent Stack
(1) PC-000117 Rivet

FS1-0002* Side Panel
(5) PC-000192 Lag Screw

(2) FS1-0035 Large Screen
(2) PC-000102 Rivet
(2) PC-000106 Washer

PC-000204 Toilet Seat

PJN3-0009* Urinal
(2) PC-000101 Rivet
(2) PC-000106 Washer

TMO01-0003 Mirror
PC-000367 Push-In Fastener

FS3-0003* Front Assembly

(17) PC-000104 Rivet

(4) PC-000159 1/4-20 x 3-1/2" Bolt
(4) PC-000123 Washer

(4) PC-000140 Nylock Nut
-FS3-0060 Door Jamb
-PC-100787 Serial I.D. Plate

-(2) PC-000108 Rivet B
-FS1-0005*C Complete Door
--FS1-0005* Fleet Door
-PC-100170 Hinge Assembly
--(6) PC-000116 Rivet

--(3) PC-000160 5/16" x 3/4" Bolt
--(3) PC-000161 5/16" Flat Washer
--(3) SG1-0037 Inner Screen
--(3) SG1-0038 Outer Screen
--(6) PC-000104 Rivet
--(6) PC-000106 Washer

FS1-0034* Door Panel Cover
(4) PC-000158 Screw
(2) PC-000147 Screw

SG1-0032 Retain Plate

PC-000800 Spring Assembly —

SG1-0030 Slide Latch

SG1-0031C Slide Latch Cover Plate
SG1-0031 Slide Cover Plate
SA1-0017 Handle U Bolt

(2) PC-100796 Grommet PC-000181S Spring Clip

(2) PC-000104 Rivet

PC-000223 Hover Handle
(2) PC-000104 Rivet

FS1-0007* Roof Panel
(4) PC-000100 Rivet

(4) PC-000106 Washer
(4) PC-000121 Washer

FS1-0062 Left Rear Extrusion
(9) PC-000104 Rivet

FS3-0018FC Base Complete

FS3-0018 Handle/Runner Base

FS3-0019 Handle Signature Style Base (Optional)
FS3-0085F Flush Style Floor

(8) PC-000117 Rivet

FS1-0004* Rear Panel
(4) PC-000192 Sems Screw

FS1-0061 Top Rear Extrusion
(5) PC-000104 Rivet

(3) SG1-0037 Inner Screen
(3) SG1-0038 Outer Screen
(6) PC-000102 Rivet

(6) PC-000106 Washer

FS1-0063 Right Rear Extrusion
(9) PC-000104 Rivet

PC-000490T.P. Dispenser
PC-000760 Rod
PC-000205M Lock

(4) PC-000100 Rivet

(4) PC-000106 Washer

LS04-0001 Soap
Dispenser

(3) PC-000102 Rivet
(3) PC-000106 Washer

TD04-1000 Paper
Towel Dispenser

(4) PC-000102 Rivet
(4) PC-000106 Washer

FS1-0002* Side Panel
(5) PC-000192 Sems Screw

FS3-0026*C Static Sink
(2) PC-000103 Rivet

(2) PC-000106 Washer

(1) PC-000158 Screw

FS3-0025*C Flush Waste Tank
(4) PC-000103 Rivet
(4) PC-000106 Washer

PC-000604 Rubber Cover
PC-000606 Foot Pump
(6) PC-000106 Washer

(6) PC-000231 Screw

* Must Specify Color


http://www.polyjohn.com/pc-000117/
http://www.polyjohn.com/side-fleet-series-red/
http://www.polyjohn.com/pc-000192/
http://www.polyjohn.com/pc-000102/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000204/
http://www.polyjohn.com/pc-000101/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/tm01-0003/
http://www.polyjohn.com/pc-000367/
http://www.polyjohn.com/front-asmby-02-fleet-blue/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/pc-000159/
http://www.polyjohn.com/washer-1/4-x-5/8-ss/
http://www.polyjohn.com/nut-nylon-lock-stainless-steel-1/4-20/
http://www.polyjohn.com/fs3-0060/
http://www.polyjohn.com/pc-100787/
http://www.polyjohn.com/rivet-602-small-flange/
http://www.polyjohn.com/pc-100170/
http://www.polyjohn.com/pc-000116/
http://www.polyjohn.com/pc-000160/
http://www.polyjohn.com/washer-5/16-3/4-flat/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/door-panel-cover-fleet-pewter/
http://www.polyjohn.com/screw-self-tap-10x1-5-oval-hd/
http://www.polyjohn.com/pc-000147/
http://www.polyjohn.com/slide-plate-unisex/
http://www.polyjohn.com/complete-spring-tube-assembly/
http://www.polyjohn.com/sg1-0030/
http://www.polyjohn.com/slide-latch-cover-plate/
http://www.polyjohn.com/sg1-0031-/
http://www.polyjohn.com/latch-u-bolt-for-handle/
http://www.polyjohn.com/pc-100796/
http://www.polyjohn.com/pc-000181s/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/pc-000223/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/base-handle/run-ff-05-flt-cmp/
http://www.polyjohn.com/fs3-0018/
http://www.polyjohn.com/fs3-0019/
http://www.polyjohn.com/fs3-0085f/
http://www.polyjohn.com/pc-000117/
http://www.polyjohn.com/screw-10-24-x-1-5-606-pump-/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000606/
http://www.polyjohn.com/pc-000604/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000103/
http://www.polyjohn.com/screw-self-tap-10x1-5-oval-hd/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000103/
http://www.polyjohn.com/fleet-sink/
http://www.polyjohn.com/pc-000192/
http://www.polyjohn.com/side-fleet-series-red/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000102/
http://www.polyjohn.com/paper-towel-dispenser/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000102/
http://www.polyjohn.com/liquid-soap-dispenser/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000100/
http://www.polyjohn.com/pc-000205m/
http://www.polyjohn.com/pc-000760/
http://www.polyjohn.com/pc-000490/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/fs1-0063/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000102/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/fs1-0061/
http://www.polyjohn.com/pc-000192/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/rear-extrusion-fleet-left/
http://www.polyjohn.com/washer-fender-1/4-x-1-1/4-/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000100/
http://www.polyjohn.com/fs1-0007n/

(2) PC-000235 - Bolt

(2) PC-000102 - Rivet
(2) PC-000106 - Washer

FS3-0022*
Seat Base/Flush Bowl
PC-100372B
Barbed Nozzle
(>
PC-000352 4@ PC-100611
#12 Hose Clamp < (@' Flapper Pivot Rod
SG1-0013

PC-000232 ————— Cup Flapper Valve

Screw
FT02-0011 / (2) PC-000233 - Nut
Prop Rod N
PC-100620
Flapper Counterweight
PC-000233

10-32 Nylon Lock Nut

(2) PC-000155 - Screw

PC-000304
Secondary Filter

PC-000303
Primary Filter

*NOT SHOWN ) A
CH100-065 - Hose
1"1.D.x 65" Long
PC-000416
1/2” Uniseal
F53-0025* PC-000328
. .
Must Specify Color Fleet Flush Tank 3/4" Barb x 1" Barbed Fitting

FS3-0025C Parts Listing


http://www.polyjohn.com/pc-100372b/
http://www.polyjohn.com/pc-000352/
http://www.polyjohn.com/screw-socket-cap-10-32-x-2-/
http://www.polyjohn.com/ft02-0011/
http://www.polyjohn.com/pc-000233/
http://www.polyjohn.com/ch100-065/
http://www.polyjohn.com/pc-000328/
http://www.polyjohn.com/pc-000416/
http://www.polyjohn.com/pc-000303/
http://www.polyjohn.com/pc-000304/
http://www.polyjohn.com/pc-000155/
http://www.polyjohn.com/counterweight-flapper-ii/
http://www.polyjohn.com/pc-000233/
http://www.polyjohn.com/sg1-0013-/
100611i
http://www.polyjohn.com/bowl/lid-02-fleet-pewter/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000102/
http://www.polyjohn.com/bolt-5/16-x-3/4-lng-shoulder/

FS3-0026C - Fleet Sink PC-000581G - Sink Tap

Non-Flushing Model (2) PC-000104 - Rivet
(2) PC-000106 - Washer

PC-000308

Fasteners for Bowl
Sink Strainer

(2) PC-000107 - Rivet
(2) PC-000106 - Washer /
PC-000339 - Elbow
, %/ Female 3/8"Tube x 3/8 Mpt

"o ()E)())|2>isoocc>:1a 1t (c>h Fli_ OCL( PC-000310
ve
(2) PC-000111 - Washer & RubberWaiher
1x2x.031

T PC-000322

PC-000224 - Locking Clip 3/4"Fpt x 3/4" Barb

(2) PC-000110 - Rivet
(2) PC-000111 - Washer

CH075-028 - Drain Hose 3/4" x 28"
PC-000351 - #10 Hose Clamp

PC-000417

3/4” Uniseal S~ **NOT SHOWN

PC-000782 - Decal Not for Drinking
PC-000783 - Decal Transport
PC-000790 - Decal Foot Pump

PC-000551 - 1/2" Drain Plug
PC-000346 - 1/2" O-Ring

PC-000415

1/4" Uniseal |

| \ PC-000305
- - // Plastic Filter
Female 3/8"Tube X 3/8” Mpt P

PC-000339 - Elbow

CT38-046

Tube 3/8"x 46"
(pump to tap)

g —

PC-000600 - Foot Pump
(4) PC-000102 - Rivet
(4) PC-000106 - Washer

CT38-0065 - Tube
(tank to pump)

FS3-0052 - Foot Pump Plate
(2) PC-000135 - Ctsk Screw

Updated 10-31-12


http://www.polyjohn.com/pc-000107/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000225/
http://www.polyjohn.com/pc-000110/
http://www.polyjohn.com/pc-000111/
http://www.polyjohn.com/spring-sink-lock/
http://www.polyjohn.com/pc-000110/
http://www.polyjohn.com/pc-000111/
http://www.polyjohn.com/pc-000417/
http://www.polyjohn.com/pc-000415/
http://www.polyjohn.com/ct38-046/
http://www.polyjohn.com/fs3-0052/
http://www.polyjohn.com/screw-ctsk-flt-1/4-x-1/2-ss/
http://www.polyjohn.com/ct38-0065/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000102/
http://www.polyjohn.com/baby-foot-pump/
http://www.polyjohn.com/pc-000305/
http://www.polyjohn.com/o-ring-3/4-x-1-x-1/8-/
http://www.polyjohn.com/1/2-gray-plug-with-tether/
http://www.polyjohn.com/decal-foot-pump/
http://www.polyjohn.com/decal-transport-/
http://www.polyjohn.com/pc-000782/
http://www.polyjohn.com/hose-clamp-10/
http://www.polyjohn.com/ch075-028/
http://www.polyjohn.com/pc-000322/
http://www.polyjohn.com/pc-000310/
http://www.polyjohn.com/pc-000308/
http://www.polyjohn.com/pc-000339/
http://www.polyjohn.com/pc-000339/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/pewter-grey-spigot/



